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Final Exam Review
Ql- Multiple Choice Find the values of x and y. 2. Multiple Choice The ratio of the lengths of >
T @ x=6y=6.,3 two equilateral triangles is 4:9. What is the % . q
f their areas?
@® x=3/2y=6 ratio o
= R ® 49 ® 94 @ 23 -
@ J‘»=2\/’—y-"4\/"‘5 = ‘
@ 16:81 E& 81:16
& x= Gf 2,y=6
3. Multiple Choice Find the values of a and b. 4. Multiple Choice Find the value of x.
@® a=9b=9J2 3 ® 16511135: Snl35)= L
® a=18,b=9.3 9 @ 16cos 35 - 5 x
© D © 3% -
16 ] 25 =/6
M a=3.3b=6.3 6}3._3 e X Sin(3e
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® a=6/3b=33 D —3s Y
® 161tan 35° Sim(35)
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Z.A to the nearest tenth of a degree?

In the diagram below, what is the measure of

6. Multiple Choice Find the perimeter of the
triangle. Round to the nearest tenth. o\ —0
s 7’7!/! ( 3 /f _X)

=1/ FN 42.2 in.
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¢ L i ey
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@ 37.2in.
@ r @ 39.1in. o
s B> 33.1in. X Sinil27) - fo
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7. Multiple Choice Find the
area of the figure. Round to
the nearest tenth if necessary.

@® 682m ® 93.5m? 4

70.1 m? 140.3 m?
> 70.1m?

30°

® 187.0m? il
9.  Multiple Choice Find the value of x.
A 22 ’g’
=7 ~ JU -
(C> 26
I
@» 28 15
E> 30
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8. Multiple Choice Find the area of the
triangle. Round to the nearest tenth.

f;) 2% 5i & A\l G0
@ 140.3 cm? | 18cm
E> 81cm?

10. Name the solid below

Ty a) h pris
X ) hexagonal p
gular prism

Sk =€ Y0 - 7.0y d) triangular pyramid

35k > €%0

X =249




1. 1fAABC~AXYZ, which of the following ig wothrue? Draw a diagram to help you 4
W) =X b)ABCA~AYZXL

12. Given A4BC ~ ADEF.

_ 5
a. What is the scale factor from AABC to ADEF? 3

b. What s the ratio of the areas from A4BC toADEF? 2.5 ! §

c. Solve for x and y. Round to nearest tenth. d. If the area of # A4BC 16 square units,
i ) ¥ ADEF? =
_X___f: i:—i what is the area of ADEF . i
by "3 Xz A5 b e RS i
2.: ' 1o L 5 i, p-
37 =70 L uf

13.Findthemsd. _
A Bxie s sy

\ Ix +6=90
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U Stmicide—=> Risht+ £
Find the value of x.







29. F:;ld ctlhe volume of the right 30. What is the most specific name of the right prism By
cylinder. Leave your answer in terms of x. below. Then, find volume of the right prism.

\/, Tl\lex. Tr;any,mr Prism
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31. Find the yolume of the sphere. 32. Find the volume of the rectangular
Round to the nearest tenth. prism

D
V= % (12.3)

Ve 7532.9 f°

7 cm

33. Find the volume of the figure to the right. Round to the nearest tenth if necessary.

o f@

V=543 §(4)
V=% (¢4)(a)

34. Solve the right triangle to the right. Round to the nearest tenth. |
=150 90-57  Haa ($7)= J2 Sin(57)= 12
=55 5 S (57)2/2 y
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35. Determine if lengths 12, 17, 9 can represent the lengths of the sides of a triangle. If so, classify the triangle as acute,
right, or obtuse. /7 z i 9 2 3! /Z'z

1295 (7
2717 v 89 Lmle
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36. Write the similarity statement and postulate/theorem that proves the two triangles are similar. {
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/’ 37. The ratio of the angles of AABCis 5:6:7. Find

the smallest angle measure. Draw a diagram to help! \
) - - | ’ \ = d —
KHEX4TE= (50 Spale) /¢ 50y = [507) G
p = re
Al
38. Use the diagram to the right to determine whether the dilation centered i
at the origin is a reduction or enlargement. Then find the scale factor. TN
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39. Find the length of ;{_ﬁ - Round to the nearest hundredth. 40. Find the area of the shaded region. Round to the

nearest hundredth.
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41. For parallelogram ABCD, find x. 42. Find the value of x and the perimeter of APQR.
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43. Which of the following is a property of all parallelograms? i
a. The diagonals are congruent. b. The diagonals are perpendicular.

c. The diagonals bisect opposite angles@he diagonals bisect each other.

44, What special property does not set a square apart from a rectangle? J Pfl w %ﬁ né les

a. The diagonals are perpendicular. e diagonals are congruent.

c. All four sides are congruent. d. The diagonals bisect opposite angles.




;ii ABC!'D is a isosceles trapezoid with diagonals AC and BD . If AC = (2x + 10) in. and BD = 56 in., find x. Drawa

#r K= 5E
' JK = %6
D l)( =23 l
46. Find the area of the rhombus. i 47. Fmdthemwk;tezi,BGD _
W g . et SRt R ok i
R ‘ E8 Aot/ =
Y+ 256 = 900 AN o gg i S

X=i1r

49. From the top of a 120-foot
depression of 19°. How -




